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e Please check that this question paper contains 10 printed pages + 1 Map.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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gy g7 Afdard & |
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¥o7 G&gT 1 7 % Hla TG-IF0T Jo7 & | JAF o7 1 37k H 8 | 99 &
Yo 97 %7 I 30 el & 37ferk &7 781 &7 T30 |

Y97 &I 8 G 18 TF YdPb Y97 3 3k F1 & | 397 & I3F Y9 HT I

80 og] @ 37feres @7 781 &7 FfT |

Y97 G&IT 19 T 25 TF Y% Y97 5 3b F1 & | 378 & 9% J97 HT IH

100 3753 @ 37fere &7 987 &7 =eT |

J97 G&IT 26 HAGT 975 37F HT & | 38% 3 9T & — 26 (A) 3K 26 (B) /
26 (A) 2 3% FT FAET T TIT 26 (B) 8 3% H YA & & | HHIGT F Jo7
7o §4 T 3G T FR-GIaT & 3K 7791 BT |

General Instructions :

(i)
(i)
(iii)
(iv)
(v)
(vi)
(vit)

(viii)

The question paper is divided into four sections — Section A, Section B,
Section C and Section D.

The question paper has 26 questions in all.
All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 to 7 are Very Short Answer Type
Questions. Each question carries 1 mark. Answers to these questions
should not exeed 30 words each.

Questions from serial number 8 to 18 are 3 marks questions.
Answers to these questions should not exceed 80 words each.

Questions from serial number 19 to 25 are 5 marks questions.
Answers to these questions should not exceed 100 words each.

Question number 26 is a map question of 5§ marks with two parts —26 (A)
and 26 (B). 26 (A) from History (2 marks) and 26 (B) from Geography
(3 marks). After completion, attach the map inside your answer-book.
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SECTION A
1. =i S fhd yehw giaem Yee i | 2 1

HAAAT
THRIC qNGed § ‘STEvashalal 1 Sigdl TN fohd JhR G &1 & ?
How do the Demand Deposits offer facilities ?
OR

How is Double coincidence of wants not appreciable in the contemporary
scenario ?

~

2. Uiy TSEM SR TSUa § 997 oAl o [T TThd QU HING &, g STl
rfersham 3w IR foepra & fobm R 8 | W weneAl fr fRm ooft A s
87 1

AYAT

A g SaAie T, gTgge 3R ATediS ol Jifieh 8, fSrEest 3ui 3ott &
X GId % ®9 § TR ST Fha1 B | ik 39 329 1 Ifd o foIw guR 9™
AT el T &1 2 | 31 NE1 ol fhT TR & 1T o &9 § T Fohd
8 7? 1
Favourable conditions for wind energy exist in Western Rajasthan and

Gujarat, but they have not been utilised and developed to the maximum. It
falls in which category of resources ?

OR
Water is a compound of two inflammable gases, hydrogen and oxygen,
which can be used as a rich source of energy. However, we do not have the
required technical ‘know-how’ to use them for this purpose. What kind of
resources can these gases be put in ?

3. WIfdA e A U i wE A1 fh Hgu sveR H & g3 SAlaH AR HEHad o
®? 1

HAAT

g | W $i0Ee ¥ Hig | qes a9l R ? 1
Why did Martin Luther say that ‘Printing is the ultimate gift of God and
the greatest one’ ?

OR

Why did Premchand reject the nostalgic obsession with ancient history ?
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4. 1956 ® et # Togell ol UHAS TIHWT SN & o oo afafrm =i
aTied fekanm TR o ? 1
Why was an Act passed in 1956 in Sri Lanka to recognise Sinhala as the
only official language ?

5.  3Tiel 9 foeATeh 1 THA o THIHUT I e A1 hagl T AT ? 1

HAAT
for—Ia™ & It S 79 319 3T 71 fomg “Auatard! fermdy” &= g T 9 2 1
Why was Otto Von Bismarck considered as the architect of the unified
Germany ?
OR

Why were the Vietnamese provinces like Nghe An and Ha Tinh called as
“electrical fuses” ?

6. UNd ¥ ¥ HrE H e | fhg YR HfHeni 1 Sitad ywfad foram @ 2 1
How has flexibility in the labour laws affected the lives of labourers in
India ?

7.  WRA H SYHIH GO FT TRFH g1 ? 1
Why did Consumer Movement arise in India ?

RCLCRCE)
SECTION B

8.  wHIeh fAfHadd @M ARl sl Th-gel | A Hidl &, g a8l fofreard
AT-ITAT TE & At bl et off 8 | wronm, foge et dexr andw &1
3STEW <d §U, 8 HIA ! AT HIT | 3
Taking example of Carlos, Smith and Peter Norman, how do social

differences divide similar people from one another, but also unite very
different people ? Explain.

9. UWA H TSHIfdeh Gl o Tehglohtul o T FHATEl | i TS HIT | 3
T
TATehdieh STTEAT oh dTE T <hl ATk AhITA! S & T G TWHR g1
1992 § 33T 7Y Tehegl i shedi shl I shifvw | 1x3=3
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10.

11.

12.

Explain the basic idea behind decentralization of political power in India.

OR

Explain the steps taken by the Indian government in the year 1992 to
make the third-tier of democracy more powerful.

[ § S T F A R § T Tk @ SeE R S @

7o ®9 ¥ IS BT ¥ | IE o HeIH o o [T SHHRT 1 319 o1 ? FHATST | 3
HAYAT

FIS W1 Wi oTerd aren fewn fhm yer ‘oft feem @ fim ar 2 T

HIT | 3

Ideas of national unity in early nineteenth century Europe were closely

allied to the ideology of liberalism. What did it mean for the middle class
in France ? Explain.

OR
How was the French part of Hanoi different from the native quarter ?
Explain.
% <l HHA § FEfid e kg 1 AW fAfEn | 39 wEd I Rl g1 forans
1 Iooi@ FHIWT | 1+2=3

Name the cropping season related to wheat crop. Mention any two features
of this crop.

“Hgr 3 dTes a1 3R ST ST ohi Th-g8- o 3Tfush ek o feam 1”7 54

e ! IUYTh deh Tlgd JHIUE HIFAT | 3
YT

“qrReiE I IYATET BT ST GHS H UiEdd A o U T H3h {9159 o &9

T foram 2 17 3@ e <l gmTfveRar fag hifag | 3

“Printing brought the reading public and hearing public closer.”
Substantiate the statement with appropriate argument.

OR

“Indians used the novel as a powerful medium to bring change in the
society.” Validate the statement.
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14.

15.

16.

17.

ui-Sa TRV I e ottt ol s § S@ gEneE % wew % fae
TorE TohR TTE Tt W @ 2 3eEn |fga Tase kil | 3

YT

“grrata 3R UfrgTies Ao SdTd 8 foh g9 WT=H Sl § & 9RAd § 3ohte
St it o1 € 17 39 heF Sl ymifa e & fore ffF we v | 1x3=3

How are traditional rainwater harvesting methods being carried out to
conserve water resources in different regions ? Explain with examples.

OR

“Archaeological and historical records show that from ancient times we
have been constructing sophisticated hydraulic structures in India.”
Substantiate the statement by giving three evidences.

“RrehTrdl 1 4 T AT hl ThaTdl ohl TaTa! <al & |7 $8 A 1 JoTohd
HIT | 3

“Complaints are the testimony to the success of democracy.” Assess the
statement.

TSIt HHAAT fohe ThR 310 G dWa qT Wfth TH o g W g1 W h

9 ¥ 3cured W Rt et 2 2 Sereten afgd wase fifs | 1x3=3
e

Tenfirehl 3 Sveliertor i gfshan =l ford Tepr ITTa fomam 8 2 Serswon afgd Tose

HIT | 1x3=3

How do large companies with huge wealth and power control production
across countries ? Explain with examples.

OR

How has technology stimulated the globalisation process ? Explain with
examples.

‘TTa T gk o M Heehi hl SATET ST | 1x3=3

Explain the three components of Human Development Index.

formgl i uftfeafaat <h S ifse S skor, foramt o fawma & o8@s 8 | 1x3=3
areran

fordl v ufifeufea 6 site Hifse e w1, Felegr &1 Rko-Sa | &A1 <
Ix3=3




18.

19.

20.

21.

Examine any three situations in which credit helps in the development of
agriculturists.

OR

Examine any three situations in which credit pushes the borrower into a
debt-trap.

TR | YRS hl geear @ fore femt ofit fafmi 6t stravehar &= it
7 ? e i | 3

Why is there a need for rules and regulations for the protection of the
consumers in the market-place ? Explain.

Qg
SECTION C

‘e el gt =t aftifeg shifSw | 5@ gorelt & oy 3T BT <Rl samean
HIFTT | 1+2+2=5

ST
Teh TSI T o fohral U SRl shl AT hIFY | Ix5=5

Define the two-party system. Explain its advantages and disadvantages.

OR

Explain any five functions of a political party.

“area ® = I AT 1 AT @ R |7 I dohl died 39 e
fergetwor =i | Ix5=5

“Sugar industry in India is facing challenges.” Analyse the statement with

suitable arguments.

1930 H WETeHT Tieft o |fo™ 31as TeeH & i o1 g ha foram 2 Tose
HIT | 5

AT

e U ITHEAN e 8 39T ? T HIIT | 5
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22,

23.

24.

25.

Explain how Mahatma Gandhi decided to launch the Civil Disobedience
Movement in 1930.
OR

Explain how the Non-Cooperation Movement emerged in the towns.

IR H OS® UNagd % gH& AW drelt foheal Ul Y@ THEAST Hl IATR
T | Ix5=5

Highlight any five major problems faced by road transport in India.

I HIH] hl S T T8I qRd | SATd SHIEAT hl HAAN fhIAT 7 | 5

Examine the factors that have led to the weakening of caste system in

India.
‘B4 @1 o TREd BH o fopegl Ui JHTEl ol T hifou | I1x5=5

HYAT

e Tt W Hew H 9RA H gt wuet UM § fiRae % fou ItRert fhed
qTel ShIlehl hl SITEAT <hIFVT | Ix5=5

FYaT
el Bt O fereaanfEm grr 19 AaieH & foiw st U feRegl e adien
1 T HIT | Ix5=5

Explain any five effects of the abolition of the Corn Laws.

OR

Explain any five factors responsible for the decline of the cotton textile

industry in India in mid-nineteenth century.

OR

Explain any five ways taken up by the Britishers for their entertainment
in the nineteenth century.

AIIEAT o TS & | T=ferd USTTR shi eIM3T <1 99 HIfST | Ix5=5

Describe the employment conditions prevailing in the organised sector of
the economy.
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26. (A
(B)
(A)
(B)

3272

T | 39h Tal A9 37k TH Gl T8 {Erefi W fafau

wus ¥
SECTION D

q AU a 3R b T MU ARE F TR T@EERE (758 11 W), |
JAfrd fopu U 8 | 39 Ao w1 FEfafgd Mol hl "gEdr 9

(a) 9% €AW S&T 1927 H HE I AGewH FoT o1 |

(b) o8 TIAM gl @ el I gfem 31 Aera IR foran o |

1+1=2

) feu U WRa % UoHifae Wa-AHtes |§ Fefafead 8§ 9 et a7

I ITYH Toal | gWET 3 3k 1 fafen
() THIGRE - AR IR 3 9
(i) fooarer —  amowife @=

(iii) STEWEEIE —  Hdl TET IAN g

(iv) TG - TwII RIS qTh
(v) it e A SC

Ix3=3

Two features a and b are marked on the given political outline map
of India (on page 11). Identify these features with the help of the
following information. Write their correct names on the lines

marked near them :

(a) Place where Congress Session was held in 1927.

(b) Place from where Gandhiji started the Civil Disobedience
Movement.

Locate and label any three of the following with appropriate symbols
on the same given political outline map of India :

(i) Jamshedpur

(i1) Vijayawada

(1i1)) Ahmedabad

(iv) Noida
(v) Kochi

Iron and Steel Plant
Thermal Power Plant
Cotton Textile Centre
Software Technology Park
Sea-port

9
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Fig:  FHECTRET 397 @acl giRaTaa qhgntaer & o/ 397 61 26 & €& T/
& | faregt wier 5o & I g -

Note: The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 26. Attempt any five questions :

(26.1) 1927 H HiF = 9T fawE el foham o 2

(26.2) wgTeHT et 4 ‘o Tas A wel ¥ YE foa o 2

(26.3) 38 USA &1 AW feafigu, Sef Sweeq feura 2 |

(26.4) 3T TSF &1 TM fARgQ, &1 foaTsT e T ferd B |

(26.5) Tt wh Tsw w1 AW foafew, SEF gt aw 3@ omfryes awi o
Tohfrgd o1 |

(26.6) I Yom H Teorq Tigeadarw aTarst ureh b1 A fafay |

(26.7) 3 TSY 1 AW {AIRaq, &l Hieal T Io1 €9a 7 | 1x5=5

(26.1) Where did the Congress hold its session in the year 1927 ?

(26.2) From where did Mahatma Gandhi launch the Civil Disobedience
Movement ?

(26.3) Name the State where Jamshedpur is located.

(26.4) Name the State where Vijayawada Thermal Power Plant is
located.

(26.5) Name any one State where Cotton Textile Industry was
concentrated in the early years.

(26.6) Name the Software Technology Park located in Uttar Pradesh.

(26.7) Name the State where Kandla Sea-port is located.
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I3 9. 26 & foiw For question no. 26
YA T {T-AHH (TS TR )
Outline Map of India (Political)
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